(1)
__7—/“'20/2 0 /72@]}/‘ /c /»zh?, '/5

_ P([ﬂS}a, Sffﬂ}))

M1,0)

G)ﬂS'}f’ﬂ(j He dﬂyé b oin stagleod Pajf‘[z'aﬂ‘ Since The ‘fafm:ba,/
Sice N b intersech Yo wnit eirche ot He /oa/hﬁ /D(K’ofl,ShA)
ansd sine h s messund in ratians Ko stynel ace lergfl
a/bné He wit cirde  From BUL) to Plesh, Swh) is b,
Thus, Ho eacc lws—# a/lans He orcle  pehoveen Hese poirds,
we hote |

o< /(I—@sZ.)R+(O- iyt < lhl

On WI}'S ﬂﬂep 3:1'77’/}"%/!}13 W 3&"
0s2-RGsh < H (1)

W h s pps,‘véi/e, HMenr on Avision by 2h, (1) becomes

|~ Cos

D < i :2"11

)\



&

bt
i =h =0 end i 0 =0
h—=>0+ | h—=>0"
So Hatn
Mm ,_foM = 0 by ’f%e 5%6622, -/%m, % h /s WW)
h—>0"

‘/'A&ﬁ on o‘(/i//'ojﬂ’lzs (,) E))/ Rh we Oé}ﬂth

;1"45 ol oL =0

h
Dot
lin Zh=0 ard I 0 =0
h—=>0" h-30
So Hhat
- Cosh
/;m_?o_ i—-;--f—- =0 by Fhe S;umza Hom.
|- Cosh
LIe &Dﬁc/u@&_ JAEJL /wifn n =@ J[;'om wju‘(,z ,'}‘
bh—=20
_g‘o//ows %Aa;
h-1 [— Cosh _
hin S = e (- )~ 0.
:n—?o h j,h_r;o( { & )
Coro//ary: bin  Gosh =4
h—>0
Froof \ . i
Cosh— - + =)
b ek = e (14 % h)= b 2+ (g 5l )

=)+ (0.0) =4



(3)
Bebore ffocaaﬂifij tfo Hhe lest Heoremn we must Aevedop Hhe

;ormaja For 1%1 &ea a'p A Cz?‘da_jﬂf &:c/of. Cb/??fefu a sec fo!
Wit ¢ i e et a ca/??‘/sajﬂf% A 6 radiam

W 0 =RT He sectorisHe bl civcle #at has area TrE T,
B e avwme Hat Yo ova o ap arbitrary Secdor s
proforﬁ'a/h/ to i#s certnal .smg,/e B. we obtam

Qrex N sector MW%JW

aren N cirede B a:m%ula/ﬁla A circle
of A__ B
e

e
Thorms Y VB =]
h=20

et gk sehibin 0<he T sad b

J’AQ, W b in 5’/@Jbﬁﬂfkj fﬂff%"oﬂ. 722, ‘}éfm;f’mj Sﬂaé J /7:3'?11-'6/56'4}1



(4)

e wnt civele ak Pleosh, Swh) and mtervets Ko verdon)
hne ‘/Zmus,[ B,0) at. 7he /whi Al Fend, )

Plsh5inh) Pllosh,, $1:4,) i St o)
\\\\\ ‘ ‘ﬁ“\

(10) C B(1o) © Bl1,e)

EJ) '/AL a.éame, fzga/a

0< arxa N AOBP< aren o sector OBP< aren A A OBR

but
area AOBP = 1 base - albitule = %+1-Siph = 5 Smh
Orea A setr ObP = (13 -__.;IZ_A

Crea AOBR =% bose clbbole = L1 doah = % far
Vherelor,
0< 7 ShA < 2h<%taml

Multphing Hheougl by 2o iell
Cos h < 5‘:1’ <4

237' Hhe above Cbra/&wy, e Aﬂow M /;lfn Gos b =_’_(,,
h-=>
- /Uso, by 1 =4 /fwéa,by#e_ SWZG. j},m, - &}'—"‘i

b 20
b0



